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1. If 21 and z9 are two non Zero

comp < xvmbersucht”|z_1+z 2|=|z 1|+|z_2|


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_fBOMlWAuNJLI

thenarg z 1-argz 2isequal — (A)- pi/2(B)0

(C)-pi(D)pi/2

° Watch Video Solution

2. If 0<P(A)<1,0<P(B)<1 and
P(AUB) =P(A) + P(B) — P(A)P(B),

then

° Watch Video Solution
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3. If f:(l,00) = (2,00) is given by

f(n) = n + 1,then f~!(n) equals to?

o Watch Video Solution

4. The point on the curve y* + 3z = 12y,

when the tangent is vertical, is (are)?

o Watch Video Solution
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5. If a circle passes through the point (a, b)
and cuts the circle 22 + y* = k? orthogonally,

then the equation of the locus of its center is

o Watch Video Solution

6.1f B, C are square matrices of order n and if
A=B+C ,BC=CB,C*=0, then
without using mathematical induction, show

that for any positive integer

p, A" = BP[B + (p+1)C].
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| ¥ Watch Video Solution |

7. The area bounded by the curves
y=,/T,2y+3 ==z, and x-axis in the 1st
quadrant is 18 sqg. units (b) —s qunits

4
4 . .
§S qunit s (d) 9sqg.units

o Watch Video Solution
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